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. There were cookies left in the tin.

. Tusually go my gran’s house at the weekend.
. Ididn’t need my coat today as it was hot.

. Ican paint well but I am good at drawing

. 1 like going the park with my friends.

. Can we take presents the party?
. Tam full because I ate much!

. T have cats and one dog.
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These three words are often misspelled or used incorrectly.

Here are some examples of two, too and to:

I am going to the cinema.
It is too wet to play outside!

Can I come along too, please?

There were two fish in the bowl.





